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Special information on result reports and options
Peter Lohmander 090909

LINGO Model (Text Only) - ex

model: 2 LINGO Grap x 09090

sets: CALINGO111Usensx 090809 Ing
nunb/1..10/ 1%, p;

endsets

max = profit;

profic = [swnmadd (1) :p (i) *x(i))7 i

[mi] Bsum(mumb (1) :x (1)) <= 10;

(2] 17k (10]

data:

p=123456760910; 2

enddata

end .
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22 Solution Report - ex 090909 %
Global optimal solution found. P
Objective value: 92.00000 =
Infeasibilities: 0.000000

Variable Value Reduced Cost
PROFIT 52.00000 0.000000 CALINGO111Useriex 090909.Ing
x( 1) 0.000000 .000000
x(2) 0.000000 7.000000
(3 0.000000 6.000000
X8 0.000000 £.000000
(8 0.000000 4.000000
8 0.000000 3.000000
N 0.000000 2.000000
x| 0.000000 1.000000
X9 5.000000 0.000000
X 1m 2.000000 0.000000 =
Pl 1) 1.000000 0.000000
P(2) 2.000000 0.000000
P{ 3} 3.000000 0.000000
P{ 4 4.000000 0.000000
P{ 5 5.000000 0.000000
P{ 6 6.000000 0.000000
P{ T 7.000000 0.000000
P &) 8.000000 0.000000 H g [ H [ [3 [ g [ 5
F{ 3 5.000000 0.000000
P{ 10 10.00000 0.000000
Fow  Slack or Surplus Dual Price
1 52.00000 1.000000
2 0.000000 1.000000
n1 0.000000 9.000000

nz 0.000000 1.000000




T LINGO Model (Text Only) - ex 0

model:

sets:

nub/ 1. . 104 1%, 02

endsets

max = profit;

profit = @swminuwb (i) :p (i) Fxii));

[M1] Bsum(nunbd (i) :x(i)) <= 10;

[M2] 17x (10} <= 2
data:
p=12345673809 10;
enddata

end

Z} Solution Report - ex 090909

Global optiwmal solution found.
Chiective wvalue:
Infeasibilities:

Total solwver iterations:

9z.00000
0.000000
o

Value Reduced Cost
S9Z.00000 0.000000
0000000 ] 5.000000 |
0.000000 7.000000
0.000000 &.000000
0.000000 5.000000
0.000000 4.000000
0.000000 3.000000
0.000000 Z.000000
0.000000 1.000000
§.000000 0.000000
2. 000000 0.000000
1.000000 0.o00o00
2.000000 0.000000
3.000000 0.000000
4.000000 0.000000
5.000000 0.000000
&.000000 0.000000
7.000000 0,000000
&.000000 0,000000
9.000000 0.000000
10.00000 0.000000
Row Slack or Surplus Dual Price
1 9z.00000 1.000000
2 0.000000 1.000000
M1 0.000000 9.000000
Mz 0.000000 1.000000

2. LINGO Graph - ex 0909

CALINGO1 11Uz eriex 090909 Ing

CALINGO1 1Useriex 090809, Ing




sets:
numb/ 1. .10/ 1%, p;
endsets

wax = profit;
profic = @own(nuw (i)
[M1] Bsum{nuwmb (i) :x(i)
<=

[M2] 1*xi(10) 2;

data:
p=123458 7882
enddata

end

pli)Fxii)):

) <= 10:

10:

Ranges in which the basis is unchanged:

Chjective Cosfficient Ranges

Current Allowable Allowable

Variable Coefficient Increase Decrease

PROFIT 1.000000 INFINITY 1.000000

i1 0.0 8.000000 INFINITY

Xioz2) 0.0 7.000000 INFINITY

X3 0.0 6.000000 INFINITYT

Xio4) 0.0 5.000000 INFINITY

Xi 5 0.0 4.000000 INFINITT

Xi o8 0.0 3.000000 INFINITY

X7 0.0 2.000000 INFINITY

Xi 8 0.0 i.000000 INFINITT

X{ 9) 0.0 1.000000 1.000000

Xi 10} 0.0 INFINITY 1i.000000
Righthand Side Ranges

Row Current Allowable Allowable

RH3 Increase Decrease

2 0.0 INFINITY Sz .00000

M1 10.00000 INFINITY 8.000000

nz 2.000000 8.000000 2.000000

olution Rep

Chjective value:
Infeasibilities:

Ange ryckelordet som du vil soka
efter

RANGE

Range Analysic

Fired Rows
Integer Pragramming
Quadratic Programming
Fiange Command
Range Name
Range Names
Discontinuaus
RANGED Function
Ranges
RANGEU Function
RANE Function
Rarking Attibutes
RCMPSN Parameter
RETLIM Parameter

Innehdl Index |56)_< |£avoritel|

- -
Dl Bakat A Statsida Skrivut  Alemnativ
122. RANGE

REPORTS NOT Top
POSSIBLE WHEN Previous
RANGE ANALYSIS Hest

IS DISABLED.

~ Range computations are
currently disabled. To enable
range computations in Windows
wersions of LINGO run the
LINGO|Cptions command, click
the General Solver tab, and
select the Prices and Ranges
option fram the Dual
Cornputations list box. To enable
range computations in
command-ling versions of LINGO
use the command: SET
DUALCO 2. Be aware that
range computations will increase

solution times,

Glokal optimal solution found.

Total solver iterations:

S8z.00000
0.000000
o

Variable Value
FROFIT 92.00000
®i 1) 0.000000
X 2) 0.000000
(o3 0.000000
®i{ 4) 0.000000
X5 0.000000
i 6) 0.000000
®T) 0.000000
X&) 0.000000
®( 9) &.000000
X( 10) 2 .000000
F( 1) 1.000000
P{ 2) 2 .000000
P{ 3) 3.000000
F( 4) 4.,000000
P 5) 5.000000
P{ &) £.000000
F{ 7 7.000000
Bi &) &.000000
P{ 9 9.000000
P 10) 10, 00000
Row Slack or Surplus
1 92.00000
2 0.000000
M1 0.000000
Mz 0.000000

Reduced Cost

0.000000
8.000000
7.000000
6.000000
.0o00ooo
.0ooooo
.0ooooo
[alululululs}
Qooooo
ooonoo
[alululululs}
Qooooo
ooonoo
Qooooo
oooogog
ooonoo
Qooooo
.0ooooo
.0ooooo
0.000000
0.000000

OooDOoCcOoOoOOoDOOR®mW.LE®M

Dual Price
1.000000
1i.000000
S8.000000
1.000000



LINGO Model (Te:

model:
Ranges in which the basis is unchanged:
sets:
nunds/ 1. .10/ 1%, 2 Chjective Coefficient Ranges
SRRt Current illowable Allowable
Varisble Coefficient Increase Decrease
’ PROFIT 1.000000 INFINITY 1000000
max = profit; (1) 0.0 &.000000 INFINITY
%[ 2) 0.0 7.000000 INFINITY
profit = @sum{numb (i) :p(i)"x(i)); 0 3) 0.0 6.000000 INFINITY
[ 4) 0.0 5.000000 INFINITY
[M1] Bswminumbii)ix(i)] <= 10; X[ 5) 0.0 4.000000 INFINITY
S T Py [ &) 0.0 3.000000 INFINITY
Z 7 0.0 2.000000 INFINITY
%( 8) 0.0 1.000000 INFINITY
data: x( 9) o.o 1.000000 1.000000
p=12345678609 10; X[ 10} o.o INFINITY 1.000000
enddata - = = S
Rl}g;:hsnd Side Ranges
Fog Rou Current Allovable Allowable
RH3 Increase Decrease
z INFINITY 92.00000
i INFINITY §.000000
5.000000 2.000000

LINGO 11 Online Users Manual

Global upnma.}f’solucmn found.
< = Al B Ohjective valae: 92.00000
Dl Bakdt  Fram®l  Statsida  Skivut  Alemativ Infeas mnlgﬁes: 0.000000
Total solve: iterations: a
Innehdl  Indes ! Sidk | favorlterl 122. RANGE
= e REPORTS NOT Top
e RS St Rl et POSSIBLE WHEN Previous .
efter. RANGE ANALYSIS Next ¥ Variahle Feduced Cost
IS DISABLED [ PROFIT Sz. 00000 0.000000
2 5 0.000000 g8.000000
(2 0.000000 7.000000
FbNGE ~ Range computations are
fange Analsis a currgﬂt\y d\spabled To enable It 3 2.000073 5000000
X 4 0.000000 5.000000
Fiindl i3 range computations in Windows XE 5; i G s
Integer Progiamming wversiong of LINGO run the i D'DDDDDD . 'DDDDDD
Guadratic Programming LINGO|Options command, click ‘B & &
Haros Conand X7 0.000000 2.000000
o the General Solver tab, and
Range Name select the Prices and Ranges )] 0.000000 1.000000
Range Names ; i i
DEWWM option from the Dwal g--%%g%g% %'%’g’g”g%g 1
RANGED Function Computations list box. To enable ] 1.000000 D.DDDDDD
Ranges range computations in & &
RANGEL Funct i | g f 2.000000 0.000000
RANK Function command-line versions of LINGO T e
Rarking Attibutes use the command: SET e ol cucad
RCMPSN Parameter pusLCco z. Be aware that i o
RETLIM Parameter e range computations will increase : ;
= = — tion i £.000000 0.000000
ROIItOFLIMmES 7.000000 0.000000
8.000000 0.000000
9.000000 0.000000
10.00000 0.000000
Row Slack or Zurplus Duzl Price
1 92 .00000 1.000000
z 0.000000 1.000000
ni 0.000000 S.000000
nz 0.000000 1.000000




REighthand Side Ranges

Row Current Lllowshle bLllowshle

RHZ Increase Decrease

2 0.0 INFINITY 92 .00000
p— E—

Hi 10.00000 INFINITY §.000000

nz Z.000000 g.000000 Z.000000

2 Solution Report - ex_090909_1108

Chijective value:
Infeasibilities:
Total solver iterations:

zlobal optimal solution found.

9z .00000
0. 000000
u}

Variahle Value Reduced Cost
FROFIT 92 .00000 0.000000
Z001) 0.000000 &.000000
[ 02) 0.000000 7.000000
003 0.000000 &.000000
[ 04) 0.000000 5.000000
005 0.000000 4.,000000
[ B8] 0.000000 3.000000
07 0.000000 2.000000
[ 8) 0.000000 1.000000
i 9) g.000000 0.000000
(o109 2.000000 0.000000
P 1) 1.000000 0.000000
P 2) 2.000000 0.000000
P 3) 3.000000 0.000000
P 4) 4,000000 0.000000
P 5) §.000000 0.000000
Pi B6) 6.000000 0.000000
P{ 7 7.000000 0.000000
P 8) g.000000 0.000000
P{ 9) 9.000000 0.000000
Fi{ 10} 10.00000 0.000000
Row S3lack or 3urplus Dual Price

1 92 .00000 1.000000

Z 0.000000 1.000000

M1 0.000000 9.000000
[-;2 0.000000 1.000000




How to calculate and send dual and other information to textfiles and at the same time to input and export data from Excel:

model :

sets:

numb/1..10/:X,p;

z1;

endsets

max = profit;

profit = @sum(numb(i):p(i)*x(i));
[M1] @sum(numb(i):x(i)) <= 10;

[M2] 1*x(10) <= 2;

data:
p = @OLE("ex3.XLS")
@OLE("ex3.XLS")= Xx;

@TEXT("ex_X.txt")

@WRITE(@NEWLINE(L), "Product Volume™, @NEWLINE(2)):

@TEXT("ex_X.txt") = @WRITEFOR(numb(i): @FORMAT(i, "5.3g"), @FORMAT(X(i), "10.2g"), G@NEWLINE(1)):

@TEXT("ex_DUALX.txt")

@WRITE(@NEWLINE(L), "Product DUAL SLACK", @NEWLINE(2));

@TEXT("ex_DUALX.txt")

@WRITEFOR(numb(i): @FORMAT(i, "5.3g"), @FORMAT(@DUAL(x(1)), "12.2g"), GONEWLINE(1));
enddata

end



Global optimal solution found.
Objective value:
Infeasibilities:

Total solver iterations:

Export Summary Report

Transfer Method: OLE BASED

Workbook: ex3.XLS

Ranges Specified: 1
X

Ranges Found: 1

Range Size Mismatches: 0

Values Transferred: 10

Variable
PROFIT
X(C 1)
X( 2)
X( 3)
X( 4)
X( 5)
X( 6)
X(C7)
X( 8)
X( 9)
X( 10)
PC 1)
PC 2)
PC 3)
PC 4)
P(C 5)
PC 6)
PC7)

Value
140.0000
0.000000
0.000000
0.000000
10.00000
.000000
.000000
.000000
.000000
.000000
.000000
.000000
.000000
.000000
14.00000
5.000000
6.000000
7 .000000

WNPFRPOOOOOO

140.0000
0.000000
0

Reduced Cost
0.000000
13.00000
12.00000
11.00000

.000000

.000000

.000000

.000000

.000000

.000000

.000000

.000000

.000000

.000000

.000000

.000000

.000000

.000000

OO0 O0OO0OO0OOA~AUITONOO



P( 8)
PC 9)
P( 10)

Row

M1
M2

8.000000
9.000000
10.00000

Slack or Surplus
140.0000
0.000000
0.000000
2.000000

0.000000
0.000000
0.000000

Dual Price
1.000000
1.000000
14 .00000
0.000000



E3 | Microsoft Excel - ex3.xls
2] Arkiv
DEEHA SRY I 2B-<C » -~ @z -4 @D
st T | By @ | Yo Svara med ndringar, .. Avsluta granskning..,

Yisa

gediggra Infoga Format  Werkbyg Data  Finster Higlp

B ex X.txt - Anteckningar |:| |§| |X|
arkiv  Redigera Format  Visa  Hijdlp

M9~ = | 8
A B C D E F G H Product Volume )
ex3
1 0
2 0
1 0 3 a [
2 0
5 i 4 10
4 10 50 I
5 0 & 0
6 0 7 0
7 0 8 0
B 0 § 0 L
g a 10 0
10 0
1 5 1 1

Optimal Production

L. ex DUALX.txt - Anteckningar |- ||[O|[X|
Arkiv Redigera Formab  Visa  Hijslp

Product DUAL SLACE

1 13
. 2 12
5 3 11
s 4 0
= 5 g
(-]
= 6 g
§ 7 7
= g 3

9 5

10 4

Product Number

A0 - - T T T T -
M4 H \Blédl A Blad2 4 Blad3 / | 4] | ﬂJJ

Klar




